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Q.1 Choose the correct preposition.

Question ID : 162653278

China, America produces the maximum quantity of paper.

Ans X 1. Below
v 2 Besides
/< 3. Belowed

X 4. Beside

Q2 WWhich sentence makes the most sense?

Ans #”1,

Question ID : 162653267

No sooner had I arrived at the airport than the plane landed.

X2




No sooner had I arrived at the airport than the train had landed.

X 3

No sooner I arrived at the airport than the train came.

F

No sooner had I arrived at the airport the train came.

Q.3

Ans

The company is trying  new talent.
#< 1. to spotting

X 2. spotting

/< 3. spot

+ 4 to spot
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Q.4

Ans

Provide the appropriate conjunction.

He not only plays the piano the violin.
/1 and

v 2 but also

< 3. despite

< 4 but

Q.5

Question ID : 162653279
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Provide the appropriate ANTONYM for the underlined word.

He believes in transparent communication.

Question ID : 162653276

< 2. Doubtful

& 3. Candid

v 4 Opaque
Q.6

Ans

Provide the appropriate synonym for the underlined word.

She would be taciturn whenever she met the teacher.
#< 1 Terse
«' 2. Unresponsive
/< 3. Confident
< 4 Tense
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Ans

My friend
&< 1. Jost
#< 2. has been lost
# 3. had lost
v 4 has lost

his keys. He doesn’t have them with him now.
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Provide the appropriate synonym for the underlined word. l Question D : 162653273

The doctor seemed eccentric.
Ans  of 1. Abnormal

/< 2. Dapper

#< 3. Short-tempered

4 Bullish

Q.9 Provide the appropriate ANTONYM for the underlined word.

Question ID : 162653275

My parents are contemplating immigration to Canada.
Ans X 1. Contaminating
« 2. Rejecting
< 3. Feeling

< 4. Discovering

Q.10 Choose the correct preposition. Question ID : 162653277

The loss due to the Kerala floodsis ¥ 19,000 crores.
Ans X" 1. across

/< 2. beneath

v 3. around

/< 4. underneath

Q.11 Choose the sentence in Reported Speech. e LY W o

“The kids are longing to meet their cousins”, the parents said.

Ans X1,

The parents said that the kids longed to meet their cousins.

X2

The parents said that the kids are longing to meet their cousins.

v &

The parents said that the kids were longing to meet their cousins.

54

The parents said that the kids were longing to meeting their cousins.

0.12 . - . . 5
Which of the following options is a complete sentence? Question ID : 162653265

Ans X 1. The isles under the sun.
' 2 Corruption is a menace.

#< 3. Once in a blue moon.
#< 4. Kith and kin.

Q.13
Question ID : 162653266




Choose a suitable clause to complete the sentence.

The world is becoming a global village:

Ans X1_

despite there are some who bring about divisions.

K2

therefore, there are some who bring about divisions.

& 3. so are some who bring about divisions.

v 2

vet, there are some who bring about divisions.

Q.14 Arrange the following sentences in a meaningful and grammatically correct order.
A. Now it seems to be the smartphone.
B. More and more children are becoming obese nowadays.
C. They manage to snatch it from parents to pass their time.

D. Some years back, the cause for obesity. according to researchers, was the television.
E. Then it starts controlling these smartphone addicts.

Ans X 1. CDABC
X< 2 BACDE
3. ACDBE
v 4 BDACE

Question ID : 162653274

Q15 provide the appropriate question tag.

He must mend his ways.

Question ID: 162653271

Ans X' 1. must he?
< 2 won’t he?

< 3. doesn’t he?
' % mustn’t he?

Comprehension:




Read the following passage and answer the questions that follow.

On the afternoon of her fortieth birthday, I called a friend to wish her
well. I asked about her plans for the rest of the day and learned that a
celebration had already taken place. In the morning, my friend. her two
sisters and her husband had risen high into the Kentucky sky in a hot-air
balloon. “What was it like?” I asked. “Well, I don’t know if I can explain
it,”” she said. “I was so focused on the moment, when it was actually
happening.”

What I learned from my friend that morning is that sometimes. to be in
the moment, you must surrender to it completely. That’s not to say you
won’t remember it later, though you may forfeit the chance to put the
moment into words. And although I couldn’t say exactly what my pal
experienced that morning, I heard the thrill and awe in her voice.

To truly be present, one must live inside the moment and experience it
for its own sake. If you live outside the moment — observing and
explaining — you’re no longer absorbing and feeling. The moment
breaks apart and eventually disappears. Think of a movie. Sometimes it’s
impossible to explain what you've seen. On another level, though, one
you can't necessarily pinpoint. you know that once you begin dissecting
your experience, you take away from it as well.

SubQuestion No : 16

Q1 :
. Forfeit means to ' Question ID : 162653282

Ans o 1. lose out
< 2. gain
< 3. pick up

/X 4. group

Comprehension:




Read the following passage and answer the questions that follow.

On the afternoon of her fortieth birthday, I called a friend to wish her
well. I asked about her plans for the rest of the day and learned that a
celebration had already taken place. In the morning, my friend. her two
sisters and her husband had risen high into the Kentucky sky in a hot-air
balloon. “What was it like?” I asked. “Well, I don’t know if I can explain
it,”” she said. “I was so focused on the moment, when it was actually
happening.”

What I learned from my friend that morning is that sometimes. to be in
the moment, you must surrender to it completely. That’s not to say you
won’t remember it later, though you may forfeit the chance to put the
moment into words. And although I couldn’t say exactly what my pal
experienced that morning, I heard the thrill and awe in her voice.

To truly be present, one must live inside the moment and experience it
for its own sake. If you live outside the moment — observing and
explaining — you’re no longer absorbing and feeling. The moment
breaks apart and eventually disappears. Think of a movie. Sometimes it’s
impossible to explain what you've seen. On another level, though, one
you can't necessarily pinpoint. you know that once you begin dissecting
your experience, you take away from it as well.

SubQuestion No : 17

°§1 Why gouldn’t the atlxthc)r’s friend explain about the Question ID : 162653281
experience on her birthday?

Ans 1. She was focused on flying.
# 2. She was in the hot-air balloon.
« 3. She was focused in the moment.

7< 4. She was too busy focusing on her friends.

Comprehension:




Q.1
8

Ans

Read the following passage and answer the questions that follow.

On the afternoon of her fortieth birthday, I called a friend to wish her
well. I asked about her plans for the rest of the day and learned that a
celebration had already taken place. In the morning, my friend. her two
sisters and her husband had risen high into the Kentucky sky in a hot-air
balloon. “What was it like?” I asked. “Well, I don’t know if I can explain
it,”” she said. “I was so focused on the moment, when it was actually
happening.”

What I learned from my friend that morning is that sometimes. to be in
the moment, you must surrender to it completely. That’s not to say you
won’t remember it later, though you may forfeit the chance to put the
moment into words. And although I couldn’t say exactly what my pal
experienced that morning, I heard the thrill and awe in her voice.

To truly be present, one must live inside the moment and experience it
for its own sake. If you live outside the moment — observing and
explaining — you’re no longer absorbing and feeling. The moment
breaks apart and eventually disappears. Think of a movie. Sometimes it’s
impossible to explain what you've seen. On another level, though, one
you can't necessarily pinpoint. you know that once you begin dissecting
your experience, you take away from it as well.

SubQuestion No : 18

The word ‘dissect’ meansto . Question ID : 162653285

< 1. section
X 2 find

#< 3. function
W 4 analyze

Comprehension:




Q.1
9

Ans

Read the following passage and answer the questions that follow.

On the afternoon of her fortieth birthday, I called a friend to wish her
well. I asked about her plans for the rest of the day and learned that a
celebration had already taken place. In the morning, my friend. her two
sisters and her husband had risen high into the Kentucky sky in a hot-air
balloon. “What was it like?” I asked. “Well, I don’t know if I can explain
it,”” she said. “I was so focused on the moment, when it was actually
happening.”

What I learned from my friend that morning is that sometimes. to be in
the moment, you must surrender to it completely. That’s not to say you
won’t remember it later, though you may forfeit the chance to put the
moment into words. And although I couldn’t say exactly what my pal
experienced that morning, I heard the thrill and awe in her voice.

To truly be present, one must live inside the moment and experience it
for its own sake. If you live outside the moment — observing and
explaining — you’re no longer absorbing and feeling. The moment
breaks apart and eventually disappears. Think of a movie. Sometimes it’s
impossible to explain what you've seen. On another level, though, one
you can't necessarily pinpoint. you know that once you begin dissecting
your experience, you take away from it as well.

SubQuestion No : 19

In the case of a movie, sometimes it is what
you've seen.

Question ID : 162653284

+ 1. impossible to explain
< 2. possible to replicate
#< 3. possible to explain

< 4. impossible to write

Comprehension:




Read the following passage and answer the questions that follow.

On the afternoon of her fortieth birthday, I called a friend to wish her
well. I asked about her plans for the rest of the day and learned that a
celebration had already taken place. In the morning, my friend. her two
sisters and her husband had risen high into the Kentucky sky in a hot-air
balloon. “What was it like?” I asked. “Well, I don’t know if I can explain
it,”” she said. “I was so focused on the moment, when it was actually
happening.”

What I learned from my friend that morning is that sometimes. to be in
the moment, you must surrender to it completely. That’s not to say you
won’t remember it later, though you may forfeit the chance to put the
moment into words. And although I couldn’t say exactly what my pal
experienced that morning, I heard the thrill and awe in her voice.

To truly be present, one must live inside the moment and experience it
for its own sake. If you live outside the moment — observing and
explaining — you’re no longer absorbing and feeling. The moment
breaks apart and eventually disappears. Think of a movie. Sometimes it’s
impossible to explain what you've seen. On another level, though, one
you can't necessarily pinpoint. you know that once you begin dissecting
your experience, you take away from it as well.

SubQuestion No : 20

Q.2 & - = ¢
o Which of the following statements is true according Question ID : 162653283
to the passage?

Ans ?(" 1.
To truly be present. one must live inside the moment
and experience it for others’ sake.

X 2 To truly be present, one must live outside the
- moment and experience it for others’ sake.

v &3

To truly be present. one must live inside the moment
and experience it for his/her own sake.

X 4
To truly be present. one must live inside the moment
and experience it.

Comprehension:
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SubQuestion No : 1

e sy o & Jw ey = 7 g Question ID : 162653289
e X wmE R T

v o g g T 9

X 3 il o T o

X+ ga o T A

Comprehension:

A fodr 71T STeaTer #F gEe q¥ T WA & 3eay ST

7. g 9IS gf9aer & Heul #7 9gar H@Eed FER 3R o
1945 & eI gamm 3R arelier & Gor 1948 3. #| gfdr S
et F = FE=eR SRE # T e w1 g e
3egie SIAERT R # IR &han eFEdr o & o ey felr
7 uge J7 o v | 3 ey Fur i oavd ama v
ToaTcHF Oifgcd A Fife & afEwsT gar o 3= ey
HAd: #RA & WP Siagrd I Jaasl & 21 30F &
T 3R Tt T Fgr ST Tham g
SubQuestion No : 2

a2 s s F ey s & g =g & Question ID : 162653290
TACHAT FLT &7

fne XK. et
X 2 aiffiw
<3 nfEe




v o\ FTERTaS
Comprehension:

A & 71T argarer # 9ge q¥ T WAl & 3ea} ST

7. 9T 9O ST & et o 9ger dees e sk faS
1945 3 eI g3 3R el & For 1948 §. #| gfadr S
ferelt & T FETIsAeR SR 7 o A )@ FRg e
gl TraTERy 3T 7 gy ) gfadr St ¥ s ey =
H Jg Ael oW T ¥ 3@ ey T # 39S owE §
ToaTcHF Oifgcd A Fife & afEwsT gar o 3= ey
HAd: #RA & WP Siagrd I Jaasl & 21 30F &
ol 3! Ty ey &gl S Hepall gl

SubQuestion No : 3

@3 IS ladar & [aedl T TIgel Heholel Question ID : 162653287

g:

A o e iR Bas
X 2 330k & Bl
X o e

X+ 7% 3R Bes
Comprehension:

A fodr 71T STEETer @ gge ¥ T WAl & 3eak ST

— — —

7. g 9AE gfaEer F Reul # ggen dwed TR ik e
1945 & eI gamm 3R arelier & Gor 1948 3. #| gfdr S
et F = FE=eR SRE # T e w1 g e
el oI gt # gy e efaadr S ¢ Ju ey =
H Ugel Fal o 91T | 3eai ey fer 7 39 awT o
H=dTcHs Hiigcd #T e & 9Ew=ET 501 am 3935 Fey
HAAd: #Rd & WP Siaerd H Jaiasl Hid 21 320F &
B 3ol TS (e gl = Hehell &

SubQuestion No : 4

el ¥ A =T Fehrued Iv g Question ID : 162653288
Ane X 11984 €




X 2 1945 3.
v'3.1948 %
X 4 1954 S

Comprehension:

A & 71T argarer # 9ge q¥ T WAl & 3ea} ST

7. 9T 941 ST & et o 9ger geea e ik Tes
1945 3 eI garm 3R el & For 1948 3. #| I S
et $r T FEseR SRa 7 off Fa W) g e
I SIITEET e & g fEm efaadr S ¥ 3 Rew &=
H Uge F7gT oy 7T 3| 3g ey Bur o 39d vdmE @
ToaTcHF Oifgcd A Fife & afEwsT gar o 3= ey
HAd: #RA & WP Siagrd I Jaasl & 21 30F &
ol 3! Ty ey &gl S Hepall gl

SubQuestion No : 5

@’ ey S 7 ofafafe Fey 9 &gy =1 | Question ID : 162653291

é‘? - = = -
Ans "13_]_%%#%_
X 2 AT FEpfa & &

X3 fEr ik Res
X o FE

e =TT § § T o1 o= 2o %"’ Question ID : 162653294

e o sy
X 2 HERT
<3 AT

< 4 FHETAT

U BT A g refr @ qF e Hid A g7 Question ID : 162653306

A o1 gireT
X< 2 gfgem
X 3 gig=or
<4 gdreoT

Q.8 [




Ans

ST T Pﬁ.:f ﬁm E]TIT' l Question ID

1162653297

Q.9

Ans

‘Hﬁ:ﬁﬂﬂ ﬁ L) %" Question ID

1162653301

v g
K2dg
Ksd
<4 fTEr

Q.10

Ans

‘Tormehr TEE F 9T 7 7T " F v v e g m: Question ID

1162653304

#< 1. Tmer
W 2 3
/< 3. qrdTer
<4 TER

Q.11

Ans

ICFE=ICICER - " Hia @r Meg, dgd %‘7 Question ID

1162653293

X AT

X2 T3
" ddda

X4 FET

Q.12

Ans

T 7 ¢ FiF @r Aec E=feET %7 Question ID

1162653299

X1 g
A2 gEa
X Feper
v 4 FFIT

Q.13

Ans

‘T H FiT HT HATH %7 Question ID

1162653298

s
Xza@ag
v o sremaeE
X+

Q.14

frm=faf@a & o2 ag a9 @ 872 Question ID

1162653305




e X gg 78 aro=T B
v 3HH TAS H FT T H|

X 3 T o T@ET HiT ST Tehel

x4.mq?ﬂmmzﬁ%ﬁmgam

15 :
@ egar &g 9T fr g7 22 Question D : 162653295

e K1 ofeaEs
< 2 ggrdarees
v & grEaTTR
X 4 sfaETe

16 - :
1 mator & IUEET g Question ID : 162653300

Ans (14 hap=g
< 2. gqoT
Xs.qq?-[
P A

QY Spmfafae & @ #i9 O as 9 &1 9uEeEt agt %"[_ o Question ID : 162653302

e X forer
" adda
<3 e

< 4 HTETR

18 anfae 7 AeE grem: Question ID : 162653303

Ans 1. @i
v’ R
X ffaw
X4y

OV ar BT 9 FT T 2 Question ID : 162653296

Ans g IOTETER
< 2 aiAmT S
A5 grEaEs
X 4 geETR

20 =T 7 ¥ FiF 71 o= 887 272 [ Question ID : 162653292




Ans xl Eﬂw
A2 afaa
X 3 e

Voo

Section : Subject Related

Q1 e U aEd § ead e i EaeRwar afEd @ B Question ID : 162653324
Ans K1 st

X 2 gzoia

X 3 zorETe A&t

Q.2 dveEcHF e ve 9iEar § S Sfe aRgemar it gdieRer & @ @eTeEr @ @ 31 g8 e
Twer e e om? Question ID : 162653307

s X1 gEnERY
X 2 gaTT grgelg
<3 g ue. TR
v e R

s gome F HAAR fRvar EF-EITa ddauestionlD:162653309
e K FrRepaT $r arseren

X 2 T 3T FLT F T
v &3
T & @I H§ AFIT AT T JHEreyor

AR

Q.4 e X amt AR il F1 Rl & w7 & @ ont & aEa § 3fy war ) Rew oW
S T 7 Question ID : 162653322

e 1 e gaETear
< 2 NP gearg
<3 gl @rr
X 4 g T

Q'5 - . . - . L. .
Which of the following is Intrinsic motivation? Question ID : 162653318

Ans o 1. Students learn for personal satisfaction.

< 2. It means negative reinforcement.

~< 3




Teacher gives awards/rewards to strength learning.

/< 4 It means positive reinforcement.

Q.6

Tl Rl Hcdold 1 F-Iﬁ' %"’

e X g st T
K 2 7ot fReT

o ST FT HIAEOT AT g
X+ T@T 3R g A srEaT A

Question ID : 162653310

Q.7 gremma e R guR & ToET areTme SEEs $ e ST a2 §7

Ans ‘!f 1
F==1 F O Treuss gAReRh d#R ards s e

X2
Tedl H TGATEAR & WY T g & RARTa Fr

< 3 fareTes SHiEg fore

X 4

=7 & TIATTSRHI0T 9T €T Figd HIaAr
8 oTca® TREHIOT T ThEe SSoaT | UsET ST 87
Ans X 1. cETIER

X2 ERe

v o s

X 4 oTsTS S

Question ID : 162653311

Question ID : 162653316

Q.9 e Fww ST 37 § O # TEUTEAR ¥ SET 3T SRl S T s 3
e X o A8 @ T B

X 2 BT #T AT 991 & W@ gl

X 2 BT EAETH W T A9 o 2

v . et w3

Question ID : 162653320

V10 frorz o (e & Rrw ge=n) &1 Adew #2137
e ¥ 1. cagR AvEfeE

X 2 T B9 T AT 8

X 3. srferepreqoT Rafor

Vi T W

Question ID : 162653323




M P s R AERRe s s o e P Question ID : 162653315

Ans ?{’1
FET F ITATEI0T T I ET 9T FIe IHT Fal

X 2. R¥ET0T B 3cgear ¥ Foad

v FE o 9w % AT aar &
<4 uEw feTs-Fieg FeT H

.12 &
" e W & O IHE TaT (@) F4 E? Question ID : 162653314

s XK. iR, sTaATeRs 3 smemfeRe
v 2 oriifte, TAECHES R A AT
X 3. TAACHS, ATAHF 31T @A+
X 4 OATATCHSF, Teaions T aaacHs

Q.13 : :
Rl 3T HaT & e RhEd aRT T RASUT S bl &7 Question ID : 162653321

K I AT AR A
X 2. ARTACT 3T HSITH
Vv gt H SEde
K 4
oTst @ et sk Tt ¥ ory s FeTE gEe

Q.14 freor F drowe-aTs (IR 3mnfE) 3R o-aTE TR afie R F o 3RR aAnE?

e X EeeRE @ T TadEaT A8 g

Question ID : 162653325

v
Fear $1 aeferr 3T Ror # AR @ €
X 2 eHagR Fael e & go @ §

F
Wer-ER T A St Sraaar F sEac ar ¥

Q15 Sy R % 3gAR v Ry T SR T= F FaAwr F4;w 2

Question ID : 162653313

MV denf Rem # weH
X 2 gaTH A&
<5 @AfeET @k swEeE
X o TEAT THT AT TH Solep ToIE

16 : : :
Q18 ey = R g W forg AR H 3erer &2 Question ID : 162653326

Ans




X 1. g g Renfiat @ g=sg #

X2

Tg SFFET a7 3T sugEr ErEe 9T o AT
X 3

g =OaER, FEuReTa, fewt, anfe fr g st SRtear # #Fw gy & owwae wean §

v . gg freTor F s e 9T FRT B

V7 qforufaE e F Tt F F o w2
Ans (1. TEaT

V2 ge F AregE | @@

<3 e F drEer

X4 gg FAT F drEaT

Question ID : 162653308

Q.18 ‘o e & & FaT wid § A R TRomE o= e & BT o Fe & w9 F v w A
¥ — 77 e o zeo 7

e o e TfEeT
< 2 CHIEIETer Tioeshior
X 3 geAeATcHe Rwegor TieeRT
< 4 RreTeh-fefRa g

Question ID : 162653319

Q19 Pyt S RIET oTST T F wwy B AR G IR
eV e R

<2 ET et

A5 drger & gfa @ gfafEaeie

A4 RrereRt WX AR

Question ID : 162653312

02w ReeT T

‘o Rietor & W& 1 Jefeasa Ageaqer g1
Ans X 1.

Fo O e F e Ra Fwar g

v 2 BET FT AT T T U ST 2

X o Rt v 1 T W TF £

K 4
FeT FHAAI TET $r FES &7 3T FFhar g1

Question ID : 162653317




Q.1

Ans

qredshH ICEaR:CR %‘7 Question ID : 162653344

X . grEE R
X 2 33y & oiEaT
v 5 TS, FEaIA AR Hedied

X 4 UTSTHA AR FeTTF G A o

Q2 Pafefa & @ &9 @ wua Ren & daS.dd. (ICT) & g 372 Question ID : 162653346
Ans XK FeT # PeT ¥ HEaT B FH FIarT

K2

et & fore 3foRea ¥99 v a<ar ¢

v &

e et o ofrg et S aea aar &

X 4

o A TR A e e ¥
@3 THE.UA. (SEN) &7 a1 39 872 [ Question ID : 162653337
Ans x T U I AL Y

Hrerer Qﬂﬂ:&lﬂ Tdss (Societal Educational Standards)

v 2

IS Tefehele =A15H (Special Educational Negds)

X 3

WIS TSl #5H (Social Education Needs)

X 4

ArETECe TFHSlAT AEH (Societal Exceptional Needs)
A4 Tl o 2 & TIEH T F T eI B 7 82 Question ID : 162653342
Ans o g fore qrT

X 2 Tx&er &1 AeTH
v i gaEe B I
X 4 faaor i [/

Q.5

Ans

‘ZE F TR T EF FE 7 T § Ag T Breror fwiw # sepeear @ wH E, o ;
T T T AT ¥ 5 Ren v @ s ¥ 77 e e s S e e Question ID : 162653328

v e
< 2 B
A3 mrdr Atewdr
X 4 TSR




Q.6 waE Fam F TR ¥ AU vF Pt F TE-Rwr w1 owew s9gEs ale #iE @ 39T
e Question ID : 162653339

Ans

K 1. Feger FegEy fvefor
v gEER R

Ao Taf3e Rreror Rrer
A4 T o

recommends that the institutions of national importance like UGC. NCERT. NIEPA, AICTE. etc. will be
strengthened to enable them to give shape to national system of education. QU estion ID : 162653329

Q.7

Ans 1. Kothari Commission (1964-66)

< 2. National Curriculum Framework
/< 3. The National System of Education

« 2 National Policy on Education (1986)

08 ‘Who was the chairperson of the National Steering Committee of National Curriculum Framework, 20057

A Question ID : 162653334
ns o 1 Prof. Yash Pal

< 2. Shri Gopal Guru

# 3. Dr. DS Kothari
/< 4 Prof. Krishna Kant

Q.9 e AT ThER, A AR TEpla # giea g it ARt & W wEfE war E -
Question ID : 162653336

A X1 e, srfiverEar Mk smEER

v &)
e A wees gEae @ s w1 F e

X 3 RET-gus SAEmR

X 4
qUT A AUERT N FER B & T gAE et

Q.‘I (Q Establishment of continuing education centres, programmes of distance learning and workers® education through the

employers are the programmes included in i Question ID : 162653330

Ans

« 1. Adult Education and Continuing education
# 2. Distance education

# 3. Vocational education

/< 4. National Literacy Mission

0_1 q Which of the following is known as the structure and content of a unit, a programme of study and students’ experience

of learning? Question ID : 162653341

Ans

V' 1. Curriculum
< 2. Syllabus

< 3. Objectives
X 4 Course

Question ID : 162653327

Q.12 [




s T T el amEeTs e A e o ¥ Sew Rffint & oy e e & v sl
HET # g B, O 30F U o) ST % WIEST ST 931 & O Ue @ & nfder & 3 sy
oo ¢ & 3R &3 @ o # 5T W E T

RveTe 1 FAT FaT o7

Ans 1. HTeH HFATH
X 2 fretor F TR
v 3 T JeUe Hiee
X 4 grEEl A

Q.1 3 The concept may accommodate the UNESCO’s global Education for All (EFA) and educational opportunities
goals while the online learning mode and technologies may address the 21st century learning.

Ans X 1. Distance education

#< 2. Correspondence education

< 3. Open University

« 4 Open and distance learning

Question ID : 162653331

W E WA (ICT) ¥ T T 2

Ans X1- ﬁ L a : o] ﬁﬁl m

X2

v 3. ZESTR, W¥CaAT, SYAETRAT, e
X 4 FYE, $AeIe, T ALEL S

Q.15 CBSE. g diseT (2016), TFed TR Welell AT FETHH T Do i (¥ R
Fr=Aw #

s X1 Serardr e
v 2 grer farem
& 3 gtz fErar
X 4 afger gulFaaor

Question ID : 162653345

Question ID : 162653332

Q.16 P=faf@a # @ #iv o Bug (\) Jafa TSaFH FT 30T 2
Ans ?{’1
s-oifeter e W Fare 9Rvew F v ‘woewE ger Tfge
v
HIYROMT F SeA/TET B WS F Hged W IR AT

X 3.
FgmEa 7 WEe 3R S wE F e A & afer & aiwas

K 4. SIS THEAT AT INEIT & /Y g

Question ID : 162653343

Y o & T T Rfuar w7 oad oy
Ans “V1.

Question ID : 162653335




AT F FTATAS-AEp e AT FAATETRT FEATA
A2 gr egfFaar & &= AT

< 3
I 3T oF F FROT FRT F 3EAEAT

X o FEE & d= Beaar

@1 Faraeh Ram & T # At it e w2

i. A FeHel JUT

ii. TEgeET FT FAT

iii. A d# IRE TsT e
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<2 i T i

<k
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Question ID : 162653340

Q19 woh§ (NPE) & 3 ReT &1 @R 3t v meaaqr sffe &

Ans ?<-L =
X 2 TSgT |IETaT e
X 3 coraaies e
v o urffe gfFer

Question ID : 162653333

Q.20 maraehr e ¥ =it F ot F ewlofew F ¢ 99 o 7w wem AT B2

i X S A T B
X 2 g7 By @ frew @ sf¥ew E
v . grAE TieeenT T saEEr = g
X4 FET HaT g B

Question ID : 162653338

*! NCF-2005 & 37[@R, F==i/a=s:

Ans ‘if1_
H UF HeSdT (IH W) AW g8 I T oTH AT 2T &

Question ID : 162653358




X2 of@y & drEw §
X3 it & g ¥
< 4 1 fafee ST smer =nfge

2 ; i
Q2 Crofafya # § Fi9 T 39T F 3T F T F AT T E2 Question ID : 162653357

Ans X1 eregTEer F IIAT FIEAT
X 2 g 9T ¥ 9&T
v 5 FET edr T 9 Al H AT
X 4 T F gl =T

Q.3 AU ST &7 3T T — FH AT F FH 392 & q FFaw Fwame

Question ID : 162653365

s of 1 aerer
X2 g
X3 THEA
< 4 gieeepror

Q4 T o dres F awE AR fm wew e # wmereer or =i g 81

Question ID : 162653362

Mo s N i
< 2 FraTcA®
K 3. 9cher
X+ sffEdremere

@ ver EF'I\EI'IEF{ IEZ:ERTIY HBc_cl'E‘l'\U(l' g7 Question ID : 162653354
A 1 Rretor F T s

A2 gEr # fesE

A3 o &

X 4 FFAT HF I FIAT

Q.6 Which of the following assessment techniques can be used with the help of technology?

Question ID : 162653350
Ans

#< 1. Tutorial in the presence of the teacher

X2

Peer observation while experimenting in science lab
« 3. Discussion, debate. symposia and role play
< 2. Journal writing

Q.7 smT F NTEER oI G@NT A€ B o @ar § A $Ee st har St Wil sEs R
et Fr FAT e AET? Question ID : 162653360

Ans

X 1. ZTERTeT F RTET & AEER




v 2 ST HeJHUT

X 3 gredt & AT F YA FT FAFER
X 4 aroT Age

Q.8

Ans

The computer-assisted learning idea highly depends on:

v . Kothari Commission
< 2. Vishwanathan Commission

< 3 University Grants Commission

# 4. Knowledge Commission

Question ID : 162653348

Q.9

Ans

T=faea & o FiF a1 $-RPeor #r 3eer 8272
Ko
ZIEY ST F AR FT 3T H3h ofF AR RN’ [ A &

X2
OTF 3eTTT F v @ deafdeT & 39aeT a3 2
X 3
fRrete aafis =@k U= dig HYUT &7 ITANRT @ 2
v 2
Rt ot FT wITa = AR AR & O Hesa 9T 2 £

Q.10

Ans

X2 |
MIAT T T T Y AFFET FHT FTAT FLT

v o sifge F9aT #T gEdeT | T
X4 B F F1H T HTAST qgetar

Question ID : 162653349

Question ID : 162653347

Q.11

Ans

Aeow Rve (30sam T Fea ) ¥ a3y & B T g wiE @ g
# 1. Irg A 9ge 99 FLEAT
<2

freTr #T Y 915 F WY T TS F GHET FE BT FIAT FEAT AEC
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3R §H W A1 & Y A¢ A F A g
X 4
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Question ID : 162653366

Q.12

Ans
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Question ID : 162653351




X2
TEFr e F BT &7 F werat F et it smaemewar g T 3T mEaet few F fw dm F
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X 3
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X 4
Tewt e 7 93 wag ¥ 3k weaeh Rew & o wg

Q.‘I 3 A most common scenario in schools is children not being able to read. As a teacher. how will you promote reading in

vour students? Question ID : 162653363

Ans 1. Peer reading

< 2. Telling them to visit library
v &

Reading to the students with appropriate gestures, dramatization etc.

#< 4. Telling them to read at home

Q.14 == 1813 # fafewr s 2w, & Wufae Reged # 3o a@v 4% &7 7% R’ F1 Aregs F ar?
Question ID : 162653359

< 2 T
<3 fZEY
v 4 g sTeT

1 EDUSAT sl 3 &l HEL 3297 T g7 [- Question ID : 162653352

Ans XL

X2
Tl T TR 3T ¥ 39T A ¥ faw R 3 g ST

Y &}

Tl Al R T A F BT, WEET G F -0 F A F a=T T TS A Fo g
T &

K 4
ot % T 3= quEear arer RaT FEwA s e

Q.16 40 ot Hr v Fam F, Rameft dowr & cofFawra TufFmaet & e ¢ s R F &9 F
fraeT T FEr? Question ID : 162653353

ms X 1. fRrer frsRva RveTor

W 2
e vor & Rreur-drae & aier F 93T

X 3 FE TETOT T AT
<4 gt & T T oag & e

OV aiftrg fr carEEE AT F dga T T 37 Question ID : 162653364

Ans «1
HegTe & A9 GEAR &l SO9eh TIET § HASaT




X 2. e
A3 FHaariora
X 4 Farfate

VP s drEs § S Fhe e s
e XK arufEes wamat & ohar ¥
X 2 gruffes TaT W TFaT &

X 3. giadgs o % eaia @

v 2
FAreaf@e 3R aRss AAAF WoT TF FaT §

Question ID : 162653361

Q1 Cyare B #7 seERor SEeRT F ¥ #iF @ §

Ans ‘!V1_
T Fr fvsrsT 7 =urEET, A F 3EEI0T & 3T ' #r g

X2
THT 9T AT T giyesT 34T 3SEIor &ar
p k!

Hel H Hetod e =ie fe@mer 3 ont & a1 @ gfenr dan we & O sger

K 4

T T 3807 &1 3T HaAT T gisr Hw 6T T % 38@0T &t

Question ID : 162653356

Q20 What is the correct sequence of basic skills pflanguage?

Ans X 1. Listening, Speaking, Writing and Reading
/< 2. Writing, Reading, Speaking and Lisferljng
« 3 Listening, Speaking, Reading and Writing
X 4

Comprehending, Listening, Speaking, Writing and Reading

Question ID : 162653355

Section : Subject Related

O St F ¥ T o sroer afafafter ¥
e X RER, e g 3 #od geee

X 2 3TEe roTaTH B
X 3
oS Few, S orlife gfderor s IEr a8

v o grsfereT, efheT, SEr 3R @A

Question ID : 162653380

Q2 e H Ales BT e fBEa W omia g7

Question ID : 162653379




Ans

X . Shae wterer R

X 2 HffegFa & grg @@
v F FE gEeT

<4 yfireafea # fBEe

Q.3

Ans

s & Ty FH G AR TR F sgge dee At e & e dfe s @ o aler
gl

Question ID : 162653371

X 1. STpfdeR AT

X 2 qtERoT IeTTa

v o gpfa eI

X 4 gpia meriia femor

Q.4

RS & AW S ATAT A F FEAA A Fwrdwerat & gefg § A g & werdt F ww &
TFTA F TIEINF T F HULTIS T §, 3W FRE ®F F A= A1 2

Question ID : 162653374

e o grATTeeE e
X 2 M@ gaETES
X 3 grATfars Fema
K4 AT AE
Q5 zEer emTe R & Pw wE sagE wEfe w2 §e ( Question ID : 162653372
Ans ?{’L
K2
& 2 (Fres Rfee), Fer 3R Rew, segfaso 3 zarETE
X 3
e U5 70 (e iR @), 9w, srewae (OfE) sl senmen &
v
=g TAF I, g (S ), s amwe (amsesk wede) it wedeh
W SafafRT & O sEEE B # seReT 4§ Question ID : 162653368
Ans ?<'1
HI0T & 3erexvr fe@rar AR Fror Fr afemT goar
K2
FOT F TTAFE T T, FOT F 30T =7 AT T For F TOw o mEem=
X 3
FIoT FT T goar H#R FT & SEeIer amer
o 2
HIUT & FeHEE e, F7 F TR # e ok P F 53R s o
Q7 What is meant by pedagogy of mathematics? Question ID : 162653367
Ans

« 1 Science of teaching mathematics




/< 2. Content of teaching mathematics
/< 3. Art of teaching mathematics
X 4

Teaching mathematics to under-graduate students

Q-8 How can we develop psychomotor skills among students?

Ans  of 1. Art and craft activities
< 2. Writing an essay

/< 3. Solving maths puzzles

#< 4. Solving crossword

Question ID : 162653378

Q.9 [y TTeTwA FIEST 2005 & FTHR TURRT R qg & 3T w2 £

s o off@er & @Y ST ST
X2
TAETOTeHAS HE & T A FAwhal JeT HTa]

X 3

FANSF TIEW & TN F 799 A g o7 F B gaaens aaa i gunee-aesear g
SITAT

X 4

TR 3R 3SEI0T 9 AT §AS @Eaa FEEr

Question ID : 162653369

Q.10 Fw=frea # @ 7 &1 =g qiRF AR Fa F oiorE & et A 7E 39 17

Ans ac oEl # TR T Hed T= 2
X2 ‘
STt T ST AT Fr Igue qar el
v 3

T YedF OF UF GEL F w0E A § it iRt & saur ge & seeited g
X4.
mmmﬁﬁgmﬁagﬂésﬁﬂm%“l

Question ID : 162653382

M eRRT A YR YT T R

Ans «1_
AT a3 fas oEfes 7 & 39 3 921 2

K2
Ao B BT a5 g & 9 A d6 F Henad & gl

X 3
TS R ASA F 3 TR & Wy wEy

F
gATaF e 7= oot & seoae & g5 2

Question ID : 162653375

2 Breqre Fer HA ot i #e FE B2

Ans

Question ID : 162653377




Ko

g R § & 79 W 9T F F:1
X 2 gg TET F 3F T g

v 3

g =T HieuEa, =aeEwar i o F & shre $r o fetaa w1 §

X 4 Jg TET T FEIT FFeT T B

Q.13 =T @R ardfs Rem F TovEn # TeeT, A @R mEew F ey FeRet Fr smuRonst
& B w9 #F aifde Fer afge?

o arufRE et d areere R
X 2 e # R
X 3 del gfadde TR W
<4 omiifees aifafafomT

Question ID : 162653386

Q.14 S Ffas= ge7 7 ¥ FFos a9y =U9er &1 §AsE ¥ dEfT §7
Ans X' 1. ZUEH

< 2 e

v B

& 4 FHIAL

Question ID : 162653384

Q.15 oy oy & AreTm ¥ FiT o amant o= B B s afiee

Al + +
" X gAERAS SAT | &HaT
(2.
T TR, HieT &THGT F TR R 3R AERE & T F SR Hie A BaE. g
X 3 FHANSE eTHaT

X 4 TcH T8 &THqT

Question ID : 162653381

Q.16 T3 (NPE) & Harfae szieror B=er &1 R & 3fdesr 37 & &9 F anfdier ot a1 J&7 FRor
Fm §7

Ans ?{’1
STET & T TITEI0T & T H FAEF hlaAT
X2
STl F @O {E % G A SAASNT el
X 3
gfesy & gueRviy @al & T oEr S ST

v 2
STl HT JATEI0T FT FIAT AR E@0T F Fed FarT

Question ID : 162653370

Q.17 = = & vgfd 3aaa o= & v few Rl @@ vae e S aor defte sgse § =21
enfaer g =fgw?

Ans ?{’L

Question ID : 162653373




X 2
2T (33¢sN) W, Ter R ik &y g
X 3
&7 ehr (Fres few), diemfrr-smnia Raor Ak d=r dgar
v
T WGAT, WHEOF TS 3 Fura-3memiya frer

Q.18 w=fos fem= Remr-seams R #rot § & Bas B Jgeagr a4 87
Ans ?{’L
FrATTS U 3T FAREAHAT T TAEA
X2
TS ST W, vEttg i@k ofaa &, 3% e
X 3
AT % UF Higw, SFEAEr I faaete gesm g9
v
TATEIOT, FETUAT HIT T 9T vy wer

Question ID : 162653376

O =2 He 9EE F #gaT 14w AT

e X1 Tg T SRIgenr sfefaeE or
v
FAoT § fear R dwor REw & P smur o sa wer

X 3. TIF ST BT F FH FA
X 4 TET ST FEOEEET

Question ID : 162653385

020 mepsdt & A9 3R FEAYY ARSI Fa @ €7
e XK gmae F Sl

v 2. EReiRETT & ERA

X 3 FTTFRAT F S

Ko fordr fe & @ A A

Question ID : 162653383

Q1 3w P T F F9 ST § ¥ o § e

Ans ?{’1
Ar-Rrar # aelierd & Rffe gt # Aowfea =& F

X 2 Tpe Afaal W RAEY & F|
v o 9ETHA # WUYS F GEE & F

Question ID : 162653400




X 4
TR 3ATES ¥ FEfoT fwE W o s w1 F

Q.2

Ans

T T & 99w @ AR B e sl alel @ s sgadr afdent % e A Aeg W Fed
g, e

A BN JEE A &

A2 Y JEE w +

K3 darlos T e = F
v 4o 3R ZET 9B 1 F

Question ID : 162653406

Q.3

Ans

U RUeF & T F AT T 7 FE afenig A7
X1 AfTE =S

< 2 gt ST

v o e Tge]

X 4 STeHST 0Tl

Question ID : 162653387

Q.4

Ans

f=fafaa & ¥ wsh e werEa # v Tt $r S § e
v o
HeH Terre & v e o gaRea & &)

X2
=T HEEAT & WY HER, WHY AT Hg-H=Tod FI 5

X 3 Tper sTHEe # T oA &

X 4
FHAAET, HAE I e AT H HIT ol |

Question ID : 162653403

Q.5

Ans

S ¥ P W WHG Hsel Afafay a8 37
X IUTF WERET FEFA

A2 TaTrem FEEH

<3 srEaret 3R At F wEEeEr

v 4 JeTfOTER HAOT

Question ID : 162653395

Q.6

Ans

Thel # WA FRF F 8?

A1 BrET & TR
(2.
a9, IEETeaT AN @E e

X 3 Tpd IE
X 4 fRreteRt T TEAT

Question ID : 162653391




Q.7 T & w wsh oot o T Fo el & w99 F B A 1 dewfre G e
fgw, far

s XK. grfees w9 ¥ 39T Rt &
X 2 FiEpfas AT &
v 5 e Fuw &
X 4. Tpel TeAHIA &

Question ID : 162653405

Q8 finrer & BT Yawraw hewTor e fare fErss far =mar &7

e XK. fRrem #r sedT I ¥ B
V2
99raT Fiere, AT HAR I F 37707 F [
< 3
wa Brea 3R AfaT scan &1 a@u=a e & v
X 4
sAtedr Fr Tgte AR FRAT F e 7 iy F B

Question ID : 162653399

Q.9 wufaw Remt & geu 79 & FF aE Weacrs voua # AeEE = & 3Eg B F §

Ans “V1_
ol % A=A, sifas AR SedT FHuar & g9us )

X 2 Arar-fEr & @Y J§EE #9F)
X 3 e §aTC @
& 4 RieTor gEar EeET 7

Question ID : 162653402

Q_‘I (0 Which of the following is an important characteristic commonly found in effective school administrators at the primary
level?

Ans

#< 1. Mastery over subject knowledge
+ 2. Leadership and management

# 3. Effective communication
#< 4 Interpersonal relationship

Question ID : 162653404

U FamEwis she Sww aRRRa e R Bwa & s 2
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Question ID : 162653397




Q.12 mmmwwmmmmmmﬁmwmﬁ?l

Question ID : 162653396

Ans  of 1. 3cIceh &THAT
A 2 gaEer fasTor
A3 AT FT IR
X 4. HHEEAT P GAHATAT

OB 2 wper & SR ARt fr smEegwar w24t 32

Question ID : 162653389

o gEReT ¥ # guR e § R

X2
OIS & 30T Tl AT 39 & =909 @ & o
<3
AETETET & S F O & ARF Fld & oY

X 4 TR 36U &F H guR = F v

U1 3 o # wEg FvenT & 9= T 2

Question ID : 162653393

Ans ‘!V1_
3¢ o H Uge oS & FT (taste) FIH
X2
398 3% W Terell & I H JOH|

X 3 37g TET SIS 98T FIF|
X 4
Ther ARER & 37 SIS 396y Al AR

1 oot gl stEET F T FRoT §2

Question ID : 162653392

K ST @ e
X 2 HeNUT
v o faeel ¥ T, @R, R AT
K 4 IS FT GHT

Q.16 #= g wu=r Bw 7w §| 37 fwes & 9977 F{ S FvaT F T & TIU I T o1 T T

Question ID : 162653394

T T & AN TaET F U wE
ot Ak FEiE & e # guR gem

V. T HAT AL HUT F FROT g
X 2 ZEI FUF g FUA F HROT FAeT g
X 3 9EAT HUT G HUA F TA gl

Ans




X 4 37 A FUAT H FIS T 747 gl

Q7 ormfafee & & FiF & g e F @ s Question ID : 162653398

Ans K1'
=T wiere, f@retor 3t e Fr 9fFkar & 73

X 2. TTFE HIereT, IS TTTAT, FET Teer=T|

X 3
OIET & WY FH FHAT, GAEAT Faror wterer, fReqor Hlere)

o 2

e f9aT0T, et Yeud, TgT e, Jeed|

Q18 Tl s T H #Fr i B2 Question ID : 162653390

Ans {1,

gt @, Wi, e AR e widh & sty Bw ane | e wo fRuw & v s
& FTAROT 74, T AT

X2
gixardr e, Rfecar #aw, FEreT gael far

X 5. Thd $ARG AR HEIE H FAEIoT

X 4 wrEr 3t Brerer @7 ol e

Q.19 = 57 o= &I Txet # SIS 7 & a=ar1 I AT g1 IE ARER A & § fFad gafoa 22
A Question ID : 162653388
ns

X 1. sraaTeAs fREr
<2 HaET Rar

o qereRToT T
< 4 graeew Rrar

Q.20 Rcarcm # Firgias 79 ¥ Hoade FAeE I sEie P # ¥ w FROT § Fgeaqwr 8,
FI TF F TER| 3 FRO H TFTH Question ID : 162653401

Ans XL

TE TF T B AFE AT GG JoEsH F TR HA § 3R 5 enfder S B

X2
g TEpTaH T W ScoRerd Reror Fr atFantt # gur w2

X 3
TE T $ TR T rpa e €k sEe wee w1 g
v 4
g A-REr 3R R FEdh F guw w4 2






